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MUt N1999N L)
X (sec) N)
| cmHg kg ;/em

1 -7 0.2 8 10 6.87

2 -7 0.3 8 10 6.87

3 -6 0.5 8 10 7.36

4 -6 0.8 8 10 9.81

— I

5 -5 1 8 10 11.77

{ 6 -5 1.2 7.5 10 11.77
7 -4 1.5 7.5 10 12.75

| 8 -4 L 1.7 7 10 13.24
9 -3 L 1.8 7 10 13.24

10 L -3 L 2.0 7 10 13.73




4.2 MIANOUNANINAALIVOIYANARBIATBIGUUUNB
Wan1InaaeInian 1
76 cmHg = 1 kg ;/em :

-7 cmHg = Ix(-7) kg /cm?
76

= -0.092 kg , fem?

10 sec = 8 L
60 sec = 6_Ox_§ Y
10
L
Q = 48 —
min
P
H = —
254
k
0. = g5 £
[e]} m
G - os1 T
S
AP = P,-P
P = ANUAUNDAY - ANNAUTIDAA

= 02 kg, /em’- (:0.092kg , /fom? ) (HunnudugamIne-
Autuaw)

= 0.292 kg , /cm 2

ko 4.2
- 0_292[ 8y XMJ

2 2

cm m
k,
- 90 2/
m
H . £
PE
k,
292081
H = m

84558 1981 ™
m s



angas W,

nngas W,

F

NNGAT 7

i

i

52

k
292021
m

8289.45 <€
m-s

ke,
2920 2
8289.45 N

3
m

k 3
0.352 ng W 981N
m N kg

345 m

QOxP
L 1min 1m kg , 10* cm* 9.8IN
X X x P 2%
min 60sec 1000L

. 3 ke . 4.2
48 L < lmm)< Im <0292 g ; ><10 cm ><9.81N
min 60sec 1000L cm® om’ lkg

8 x10 ™% x 0.292 x 98100 N.m/sec

X
cm’ m’ lkg

2291 N.m/sec
Frx2m
60
0.7 kg x 981 N = 687 N
20ecm = 0.2 m
1400 rpm
3.14

(6.87 x 0.2) X2 x 3.14[‘400x1_mi£}

min  60sec

1.374 N.m x 146.53 sec

201.33 N.m/sec

Wo
24

i

2291
201.33

1137 %

x100 %
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30
25
20
15
10

H(m

O (L/min

42 44 46 48 50 52 54
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